Public Policy 603
Assignment 10, Problem 3
Table 1

The Effect of Concealed Handgun Laws on Violent Crime:  Regression Results

Dependent variable: Violent Crime Rate
	
	(1)
	(2)
	(3)
	(4)

	Coefficient on

  Concealed Handgun Law
	(      )
	(      )
	(      )
	(      )

	State characteristic control 

  variablesa?
	no
	yes
	yes
	yes

	State fixed effects?
	no
	no
	yes
	yes

	Year fixed effects?
	no
	no
	no
	yes

	F-statistic testing the 

  hypothesis that the state 

  fixed effects are zero
	–
	–
	(      )
	(      )

	F-statistic testing the 

  hypothesis that the year 

  fixed effects are zero
	–
	–
	–
	(      )
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(without fixed effects)
	
	
	       (      )
	       (      )

	Number of observations
	
	
	
	

	Number of states
	
	
	
	


Notes:  Dependent variable is the natural logarithm of the Violent Crime Rate (incidents per 100,000 members of the population) in a state, 1977-1999. All regressions include an intercept. The standard errors are heteroskedasticity-robust and clustered at the state level, so as to allow for serial correlation in the error within a state. The F-statistic is heteroskedasticity-robust for state fixed effects; the F-statistic is heteroskedasticity-robust and clustered for time fixed effects.  p-values appear in parentheses beneath the F-statistic.  Coefficients are individually statistically significant at the *5%, **1% significance level.  
aRegressions with “state characteristic control variables” include the following independent variables:  Incarceration rate of the previous year, population density, real per capita personal income, state population, percent white population (10-64), percentage black population (10-64), percent male population (10-29).
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